APX-1
PROVISIONAL ANSWER KEY

Name of The Post Programmer (Sahayak), Class-3 (GMDC)
Advertisement No 143/2019-20

Preliminary Test Held On 10-01-2021

Que. No. 001-200

Publish Date 12-01-2021

Last Date to Send Suggestion (S) 20-01-2021

Instructions / ¥Yeil

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet Physically.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as cancelled.
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(A) AU A1 $HAAA @ 2q w4 sin

(C) s 24 ol (D) MU A4, AL
‘MIRA - tldALE 2 WHIA ASE 5AR7 dZLS AL titnel YHIRL sUL 97
(A) 9841 vitnellu YRl (B) 974l eituRellu YaiRl
@ 10024 vitnella yaRi (D) 86M1 vitnRelly ya

QURArL GTRRHE Uil 2 98] 214[A (Schedules)l s DAl st 2 scumi 2udl 972
@113 R orronfaiiou Rei-u 2m@ w2

(B) Aol a2 {112 s8] se0 w2

(C) vaudi-l izl 208512 214 eIzl A58l sa e

(D) el Asnadl aeai [Rdii 8w w2

sunsiqil oitnella x50 WA %A, dum sunst seal ad-l GHr-u aw il Yol [Reges, wlds
oA i (gl caqai-ll asigl Wl 8?2

(A) 14 QN 52 2488 (B) 6 A 14 an

@o 0o (D)0l 10 ay

QAHil 53 HIRAAL €5 ATMA A3 67

(A) curdlu virs ARl (B) Rand RsyR8x Ruileedl (@23
@121 Wai-e siulRan vils Sk (D) tudly Roxd 6ivs

gul vy dloru (2002 -2007) you Gaeu 1A UA g 8dl?

(A) dlst 24 ay uwdgll (s (B) dlst AHiciell 244 Auin]l [asiu

(©) s [as URa nuls @0l s a2 aunan 8 2ulls Qs

w2 [lRalo w3l 212d gi?

(A) R WR3L

(B) Al eirt - vl ol Hid-l wrsl

@1 Crallamia s2ami 2uad v HioEl il vslt

(D) 45 HiowlliAl W Ml w3l

§M 2 vigd su snoidiqil SR Hanad ol 2R vigdld aollsw mdR sul Yoot Hial widl
s2efl ol qAAdL Sleu A A?

(A) 20 85224l ay @10 85220l ay

(C) 40l 10 8522 (D) 5 85229l ay

&g 6i~s (Small Finance Bank) - UH-2 6iv5 (PB) dil5 qla- 2udes WA 526l agru 48l €idl
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(A) 3. 50 5318 @:. 100 5208
(C) 3. 500 5213 (D) 3. 250 5213

APX-1 -A | 5 [ P.T.O.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


046.

047.

048.

049.

050.

051.

052.

053.

054.

055.

A2 eadda 58 Ayt vddld g yRAdnld, 2qyfRanld 214 1S a2 Weuldd sa
A2 (B8 2uucuni 210d 97

@-2C v Sk (B) ¥~s xu S[=sa
(C) neurHAl Yat dlor-u (D) 15 S+ Sl

-\

A4 Mgl GewlZa Sa-ia 4 ugiani MBaa0 %) sau-i 512+ [Reladl Sa-ia Gaugui 2uddl

sila 59 sild 43 2000 O ?

(A) %4 sild (B) "4l sild
@2 (s1) sila (D) &dl sila
(3 5032 518 Al o] iU g1RL AR sUHL 20 697

(A) Raxd 6is wiis Slrsun @ vens

(C) qana 332 2134 222 syl (D) S[3un tivs
aluse -l ulsa ol cudn al swel aul ?

(A) GDP al&e™i atil (B) [Astaui asrl
(C) e 5l W2 uAeNui asul @Guis un

A3 axAul “adlell v Wiy AlA-uniel 129 sedl 20e9Hi 209 Sadl wlale uld uldd we
RatlRa saumi 2ud) 97?

@):100 (B) 2200
(©) 2400 (D) 2700

AUd 2ui01 -l udd (Initiatives) adls A%u-w You Hxl2il 2@ Gualifdzi giar Rui dur 53 2%
scUHE 20dd 69, FHi A USL su0 248 [Auadl A Adl Al ?

@\(3sa Rinw A ya (B) 5% Wlid alog-uil
(C) 29 MIRd v MU (D) [Rsa Jaquui-z

A2l WA 56 Aoy arg Arpnd-u ALAS AsdiAl welni wlde adl 14dl? (GI - Geographical
indication)

(A) Avist s[HA 1 d-l didl B) 2020 3u: 33
(C) sl w6 @) ionzu udl 2w

Jpopued-it [A2un [RARHE ¢dR 5 28 aL slule2 s drared] sl AP 5 WIS sUL U AUNUHT
2ud €97

(A) WRiRs wsst @: 51 2urss

() [B&d] a1 (D) Q2L R

ogru21e [Fecunisdl wofl 2uadt e vidlo oz el ddls i 2ud © ?
@ va Ruilpe (B) Mlauicuse

(C) sAIRAUIR (D) siaiuge

A AAHE BUlEld Al WSl L 2AML d-ll 51l A3 WAL 58 A3 vilél 97

(A) A3 —uau (B) d¥ug — ol

(C) @3, aRuull, SAo1H — uan @usd - olon

APX-1-A] 6 [ Contd.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


056.

057.

058.

059.

060.

061.

062.
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MURAHE AR S Tl uRas A gl Aed U3 A1 U4 su1 aH1RiA ALY QiLlHRIHL g%
2wl Al ?

(A) seelaudl esioue YHl

@215 18u avyRa wiou

(C) 4olell -ulean yH

(D) 50HI GElldL {3 A8 2 AR S L 118 ulan (3l sizism 8
QURA HoU UL Ad] aRg 2L A1 WL 2l uHdeL Al 2l ?

(A) aivis [l vl (B) vuadd

(C) vudzl @S5 wrun

[Ricneflsl dnlui siusi dvisiz Hetrd gan 1ol 69, g+l ol g (Hial) im0 sisiaoll Sl e 3
............. ERETRRYIERR

(A) A (B) a1

@2 (D) QA

s U5 vidlHE el sl 5 ouofl Wl duir s390 dui 2, 11 seym, dug, A8 adildg
AlddR sAUNL 20d & ?

(A) twenadl vidl @ vidl

(C) il widl (D) % vidl

flA-L S01 21 WU VAL 51 Gdlgnirl AL U [Auui nam 012 897
[ HE (B) “212L 241 2182i

(C) 33 A 30 (D) AL, A

ARd+l 2011 axd) [Ad@-n g™ Al wouda s2dls dra@isdizn U4 58 ousd Al 4l ?

(A) Grirusal, u8IA, [B1812, Ul ooun dal Aiaus AAHL 2 @AM x034) ardl auae
5369,

(B) M1Rar{l 215 Agaia azdl Grizue el 2 HSIRHL AU 52 8.
(C) Rl35% A%ur Al GuRd-AL dHIH AUl azdlefl 2418 €.
@2l (3.2u.) ) azdl curddl ga axdl-l 2s1d-w 0.05 8
[y, €14l Yo v Al A Alell 1L e 2L 56 697

(A) Dan @ 2o

(C) udl (D) Bru

$ULYRLAL VS SL A RAAL U2 19553 Al [3.4). 124 5, & (A1 10.0 251 [AeURH A 1A 97
(A) HARAS 5 Yo @ 1Buq y

(C) 2[4 Yy (D) 523l

AR, AU, B, Y8, Y 2 s - wHL i) 08 s 97

(A) AgHAS B) Prud

(C) wastell Guasl @) aRvise
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066.
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068.

069.

070.

071.

072.

073.

249, [dsuet Al ™ suL dsulRse) au?

(A) g2t (B) 2u 2215+
@2 (D) Sladla

@URdAL A oeudd dsulAst Wl sundsuls Aol WRAIRS [Qgdl «edl?
(A) SLYGERUH AGAMR (B) 3L.A%AvR d52A4-
@11 21~ (D) 3i. ¢0U[Hg viRL-L
IRNSS 4 u3 -un g ¢ ?

(A) INDIAN RATIONAL NAVY SATELLITE SYSTEM

@) NDIAN REGIONAL NAVIGATION SATELLITE SYSTEM
(C) INDIAN RETIONAL NAVY SATELLITE SYSTEM

(D) INDIAN REMOTE NAVIGATION SATELLITE SYSTEM
{12 22 a2 d-ll A0 L 20l €9, dril UL 1AL A 5L A3

22l — AdAs AAWL AR
(a) A2 1. @.dl.2u
(b) 214[R s 2. Bl
(¢) A 3. il
(d) yAdluq ylRan 4. Sadl
(A)a-2, b-1, ¢-3, d-4 @:--3.v-1,c-2,d-4
(C)a-3,b-1, c-4, d-2 D)a-2, b-1, c-3, d-4
Ssi-118 3a cudly Gaug-id 2uuami 2ud © ?
(A) L& 21 HNAN A-d (B) WA AYs
@ iaza- ANyl (D) 2uls Ad ug:
U, 2R sl 881 20 €9 ?
(A) 22941 US18 (visible light) (B) 5133 2§l (Infrared Radiation)
(C) 254 2 244 3iH) [3201 .uc-glquﬁéa (3200l (Ultraviolet Radiation)
@IRA Argalt-1 1 012 ulia 54 e ?
(A) 2007 @):008
(C) 2009 (D) 2010

2ufa (geenl) uazauq (Disaster Management) SIIEL SAR G-l Ul ?

(A) 2006 (B) 2003

@005 (D) 2009

2B RA S-2[a%-u & B. Tech euA5H A3 57U -l nam e 56 © ?
(A) IIT (Bl @it dceue

(C) IIT {1 (D) IIT 2R
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074.  naHsll Gorracu Al [l 1A WA v [Qann i s
1. 20 Al AlellRvn 1A @adil uRaiiA gAML S5 AL 2000 €9,
2. 2 Al W uaHHA qua uRarid LPG uotfdll ol s2a1 “Give it up’ usd s31 ¢dl.
(A)H 1 (B) HiA 2
@22 (D) Gunizfl 445 yw el
075. AU 5O Avarziia 7 a3 [R:9n cudll as ?
1.195195  2.181181  3.120120 4. 89189
(A)$5d 1 24 2 (B) $5d. 2 ¥ 4
(C) $5d 1 211 4 @12, 3014

2 2\ 1 . . Y 2\ 2\ Y . .Y .
076. 35 | 95 Higl bug AL 21d, 21 dsladA 450 A3 ARARE 20, dl, I g 9 8 ?

(A) 2045 (B) 2250

@450 (D) G5 WA 215 uaL )
077. 141101 @23 32l yeiadl qvan wd

(A) 08 &0

(©) 06 (D) 07
078.  341.42—53.74=7—62.86

(A) 260.44 (B) 340.4

@3s0.54 (D) 450.54

[95x0.000 | . .

079. 0.0018x0.19 g U 2uuL.

(A) 100 (B) 25

@-o (D) 75

080. oA 25 (3. 2u. Alvw 3. 32 Uld (3alaum, 24 15 (5. anaaivu 3. 36 wld (Bandvi wile ©. d 2u vl
il il |Hodl uld Slal 3. 40.20 @vi A 9. dl d- 5241 251 151 29 ?
@:0% (B) 25%
(C)30% (D) 40%

081. A5 gseIR 144 31 uld 90 an Avl wile €. 21 20 3L 4l Mu 8, d eudl Saiuld 3. 1.20 vl 42Ql

-

AL dl dA 5241 251 151 5 s A ?

(A) 4.8% (B) 8.5%
(€)12.9% @14.5%

082. 3. 15000 v AR AN A1g A1 3L 5400 WA 69, el WS @y -l €2 2Lkl
(A) 11.5% @2
(€)12.5% (D) 15%
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083.

084.

08sS.

086.

087.

088.
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146.
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(B) 2wl 514 A8 A3.
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150. >0 dteu e s : yRl ddl sieS 9isA yau ™ Y

(A) ©915AA 4RI U5 AS . @ ol Rald 0 - aw.
(C) 2 51201 915U disin 532, (D) 91521 ™ S .
151. “When does the lockdown end?” This sentence is in Simple Present Tense and it expresses
event.
(A) Present (B) Past
. Future (D) All of the above
152. “Great pains been taken.” Choose the correct verb form.
(A) is (B) has
. have (D) were
153. A participle is a word which is partly a Verb and partly
(A) a noun (B) an adverb
.an adjective (D) a conjunction
154. “The middle station of life seems to be the most advantageously situated for the gaining of
wisdom.” Find out gerund in this sentence.
(A) seems (B) advantageously
(C) situated . gaining
155. I was deceived by his .
(A) look .looks
(C) looking (D) lookings
156. Three shot dead.
.deer were (B) deers were
(C) of deer were (D) of deers were
157. The thieves before the police arrived.
(A) ran away .had run away
(C) were running away (D) had been running away
158. We have a break of for lunch.
(A) one and a half hour (B) one and half hour
(C) one and half hours .one and a half hours
159. “Mr Marathe was holding match at the time of explosion.” Insert suitable
articles.
(A) the, the .a, the
(C) a, an (D) the, an
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160. “One of my friends advised me to take

taxi; another said that there was quite

good bus service.” Insert suitable articles.

(A) the, a .a, a
(C) a, the (D) the, the
161. “He insisted seeing the documents.” Insert suitable preposition.
(A) at (B) for
(C) in @ on
162. “I’ve heard such a lot him that I’m looking forward seeing him very much.”
Insert suitable prepositions.
(A) of, for @ -vout, to
(O) of, to (D) about, for
163. “I’ve lived this street ten years.” Insert suitable prepositions.
.in, for (B) at, since
(C) in, since (D) on, by
164. “Either” and “Neither” are adjectives.
(A) Demonstrative (B) Possessive
(C) Quantitative . Distributive
165. The adverb of “good” is:
(A) Better (B) Best
(C) Fair @ wen
166. Find out conjunction in the sentence, “We had to walk all the way as we had no money for
fares.”
(A) to (B) the
.as (D) no
167. “There are some girls in your class, ” Add question tag.
(A) are there? .aren’t there?
(C) are they? (D) aren’t they?
168. “Is there one living in that house? It looks deserted.” Supply appropriate word.
.any (B) some
(C) both a and b above (D) none of the above
169. There is danger of an earthquake because there is no history of earthquakes in this
area.
@ iictie (B) a little
(C) any (D) a few
170. That house has been empty six months.
(A) since (B) from
@ or (D) in
171. I type but I cannot do shorthand.
(A) could (B) should
. can (D) cannot
172. He said that it rain.
(A) may (B) may be
@ mignt (D) might be
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173. “You to finish your work before going out.” Supply appropriate model.
(A) should . ought
(C) must (D) would
174. “Who wrote it?” Make passive.
.Who was it written by? (B) Who did it write?
(C) Who were it written by? (D) Who was it wrote by?
175. “Students are doing a lot of the work.” Change voice.
(A) A lot of the work is done by students.
.A lot of the work is being done by students.
(C) A lot of work is being done by the students.
(D) A lot of work is being done by students.
176. “A rainstorm flooded the gypsies’ camp.” Make passive.
(A) The gypsies’ camp is flooded by a rainstorm.
(B) The gypsies’ camp were flooded by rainstorm.
(C) The gypsies’ camp was flooded by rainstorm.
.The gypsies’ camp was flooded by a rainstorm.
177. “Farthest”, the superlative degree of the adjective “Far”, implies:
.Distance only (B) Time only
(C) Time and distance both (D) None of the above
178. “Least” is the superlative degree of the adverb:
.Little (B) Less
(C) Lastly (D) last
179. I was to believe him.
(A) the fool (B) a foolish
(C) fool .a fool
180. Itis a where he has disappeared all of a sudden.
(A) mistary (B) mystary
(C) mistery . mystery
181. Find out the correct spelling:
(A) Pronounciation (B) Pronunsiation
. Pronunciation (D) Pronanciation
182. “James is living in a fool’s if he thinks things are always going to be this good.”
Complete the idiom.
(A) world . paradise
(O) land (D) company
183. “I’ve tried reading the manual but it’s all to me.” Complete the idiom.
(A) French (B) Latin
(C) German .Greek
184. “This film has an all-star cast, but all that glisters is not It fails because of its weak
story.” Complete the idiom.
@ :o1a (B) silver
(C) diamond (D) platinum
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185.

186.

187.

188.

189.

190.

191.

192.

193.

194.

195.

196.

“Doctors and nurses worked around the to help the COVID patients.” Complete the
idiom.

(A) day (B) watch

(C) day and night .clock

“Put a suggestion” Complete the phrasal verb with a preposition from the list:
(A) about (B) down

(C) through . forward

“The exact number of people affected is difficult to ” Choose a phrasal verb to
complete the sentence.

(A) dig up .nail down

(C) hammer out (D) paper over

If someone says “move over”, what does he want you to do?

.Make space for him to sit down (B) Walk more quickly
(C) Leave (D) Wait

“She’s been going around (tell) everyone we’re getting married.” Put the verb in the
brackets in the correct form:

(A) tells (B) to tell

(C) told . telling

“The trip didn’t live up our expectations.” Complete the sentence using appropriate
preposition.

(A) on .to

(C) by (D) at

Find the correct spelling:

(A) Etiquete (B) Atiquette

(C) Etequette . Etiquette

Which of the following is synonym of “ascent”?

@ rise (B) Ride

(O) Flair (D) Knack

Which of the following is not the synonym of “Data”?

(A) Input (B) Facts

(C) Statistics @) piagram

Find out the antonym of “Frail”:

(A) Crafty @ Rrobust

(C) Honest (D) Pallid

Give one-word substitute for “One who has changed his faith”:
(A) Agnostic (B) Atheist
.Apostate (D) Arbitrator

Give one-word substitute for “One who is centre of attraction”:
(A) Connoisseur . Cynosure

(C) Coquette (D) Debonair
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197.

198.

199.

200.

Note: Read the following passage carefully and answer question numbers 197 to 200 which
are based on the passage.

It has always been clear that a properly designed media programme uses press, posters,
printed leaflets, and so on in proportions suitable to the nature of the product itself. In such
a programme, television occupies a relatively important place if the product is sold in small
quantities at a low price to the vast mass of the people. It is regarded as a quick-acting
medium, peculiarly suited to promoting ‘impulse purchases’.

Larger items, such as cars and refrigerators, may be more profitably advertised in the press
or other media which are examined in greater detail and more at leisure than television
‘commercials’ can possibly be. Nevertheless, in most mass advertising campaigns, the media
are used in combination with each other, in proportions which tend to be more and more
carefully, and even scientifically, determined.

It is significant, in this connection, that the poster medium, and outdoor advertising generally
are now staging something of a recovery, after sustaining what at first looked like a severe
blow at the time of introduction of commercial television into the United Kingdom in 1955.
Media planning is only one of the branches of the British advertising business, where more
exact methods of measurement and the close study of statistical data have made considerable
headway in recent years.

A properly designed media programme uses

(A) television if the commodity is produced on a large scale
.different sources of medium according to the type of the product
(C) a media which depends on the impulse

(D) radio for proper advertisement

The producers advertise larger items

(A) on television ‘commercials’ to appeal to the people

.in the press so that the customer may see details leisurely

(C) through grapevine communication

(D) to make profit through poster advertisements

The poster medium and outdoor advertisement

(A) started in the United Kingdom in 1955

(B) nowadays depend upon commercial television

.are again becoming popular these days

(D) occupies an important place if the product is sold at a low price.
British advertising business

(A) is one of the branches of media planning

(B) has a close study of roads and ways in recent years

.closely studies methods of advertisement

(D) looked like a severe blow at the time of introduction of commercial television.
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shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet Physically.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as cancelled.

G edIR «{lAsll YUedlvilef Uldel scledl ddel] pwcl, Worell ditl-YAel i 536 1YVlLd] wdla
Aq1l «1&l

(1) GRedR dittl-yUstl [Add SAH 11dd ditil-YAst U= sefl 29 sc il &2,

(2) GHEdR USUHISL ditll-YUell 2% 50l dMAIS2 UR W1 2AE (A d ditll-YUel UaAsell oiysilell %
GuldL 52l

(3) GRedR Uldla Ul&Hi HAE UsIYRdSIHI OUIAE UISHIS Yo ditll-YUetl 2 ot Scll dH I ditll-

Yol AuALSe U URie 6Ad YI[Aoteiel 3oy §1 (HIR2R UBIUL)stl UsL SHIS Yool 34el d dee{H]
2% 531l

(4) HIRe UUA Hi [ER Ut A [Aseu [Rdldell ditl-Yst tla) AdH] 2419 o1&l

(5) GUedR B UBlstl (A5 U dlit] 2% 536 & wal (A5 00 % %l YUAE B A w1l GRect R Uldlefl

Griraelui 21U Sldl A, GHedIR YUde aled 4 Griraelell alod [Gat 2l dl GHedIR %
539 didl-y el el ARl «lEl.

(6) W5 Ul HI2 N o clltdl-Yet UAS ARG, 95 o clitl-aet UAsHi Asell auiR Uslell 22ld 52
&2l dl A {3etl ditll-yueil el dqiel el



001.

002.

003.

004.

00s.

006.

007.

008.

009.

010.

Which statement among the following is correct

(A) A firewall is a device that monitors and filters traffic packets that attempt to either enter or
leave the protected private network

(B) Firewalls can be implemented in both hardware and software or a combination of both
@5Both (A) and (B)

(D) None of the above

NAT stands for

.Network Address Translation (B) Network Address Transformation

(C) Network Access Translation (D) None of the above

Which among the following is correct characteristics about a Proxy Server:

(A) A proxy server may act as a firewall by responding to input packets in the manner of an
application while blocking other packets.

(B) A proxy server is a gateway from one network to another for a specific network application
(O) It performs its tasks or functions as a proxy on behalf of the network user;
.All of the Above

The PING utility uses which of the following protocols to check for network connectivity to an
IP address?

(A) UDP (B) IGMP
(C) TCP @:cvr

You are assigning IP addresses to hosts in the 192.168.4.0 /26 subnet. Which two of the following
are assignable IP addresses that reside in that subnet?

(1) 192.168.4.0 (II) 192.168.4.63 (III) 192.168.4.62 (IV) 192.168.4.32 (V) 192.168.4.64
@ o) and av) (B) (I) and (II)

(C) (IV) and (V) (D) () and (V)

Full form of RADIUS Server is

(A) Remote Authorization Dial-Internet User Service

.Remote Authentication Dial-In User Service

(C) Remote Application Dial-In User Service

(D) Remote Application Dial-Internet User Service

How do you set an encryption key of CISCO for your RADIUS server?

(A) tacas-server key CISCO (B) aaa-server CISCO

(C) username RADIUS password CISCO .radius-server key CISCO
The size of MAC address is

(A) 64 byte (B) 64 bit

(C) 48 byte @)+ vit

Which of this is not a network edge device?

(A) PC (B) Smartphones
(C) Servers .Switch

For the Link load balancing (LLB) Which features are true.

(1) It manages traffic over multiple Internet service provider (ISP) links.
(2) It enables provision of multiple links

(3) It results in reduced risk of outages

(A)1and 3 (B) 2 and 3

.1, 2 and 3 (D) None of the above
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011.

012.

013.

014.

015.

016.

017.

018.

‘Which algorithm is run by link-state routing protocols to calculate the shortest path to destination
networks?

(A) DUAL

(B) Bellman-Ford
.Dijkstra

(D) Diffie-Hellman

In the diagram below, Client A is sending a packet to Host 1. Which devices will make a packet
forwarding decision based on a destination IP address?

W ~ Fa 00
1721611 /30

Client A Host |
192.16.1.2 124

() Switch SW1  (II) Router R1  (IIT) Router R2  (IV) Switch SW2

(A) (IIT) and (IV) @ 1) ana )

(C) (I) and (IV) (D) (I) and (II)

Start and Stop bits are used in Serial Communication for

(A) Error Detection (B) Error Correction
.Synchronization (D) Slowing down the Communication

Data link layer is between which two layers of the OSI Model?
(A) Physical and Session

.Physical and Network

(C) Transport and Network

(D) Session and Transport

What is a stub network?

(A) A network with more than one exit point.

(B) A network with more than one exit and entry point.

(C) A network with only one entry and no exit point.

.A network that has only one entry and exit point.

In which topology, if there are n devices in a network, each device has n-1 ports for cables?

(A) Star (B) Bus

(C) Ring .Mesh

Which class of IP address has the most host addresses available by default?
(A) Class C (B) Class B and Class C

(C) Class B .Class A

In the diagram below, Client A is sending a packet to Host 1. As the packet arrives at Fa 0/0
interface on router R2, what is the source IP address in the packet’s header?

Fa /0
1721612730

- BT 72161130
lenit A Host |
lal.l224 192.16.1.2 124
(A) 10.1.1.1 @i0.1.12
(C) 192.16.1.2 (D) 172.16.1.1
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019.

020.

021.

022.

023.

024.

025.

026.

027.

028.

029.

A switch that connects n inputs to n outputs in a grid, using electronic micro switches at each
points is called

(A) Cross Point .Cross Bar

(C) Cross Section (D) Multistage

What is the length of an Internet Protocol Version 6 (IPv6) address?
(A) 128 bytes @ 123 bits

(C) 32 bits (D) 32 bytes

How many collision domains are created when we segment a network with a 16-port switch?
A1 @6

02 D)8

What is the characteristics of a Firewall?

.It cannot stop internal threats

(B) It provides data integrity in a large network

(C) It gives data confidentiality.

(D) It gives protection against transfer of virus infected files.

What is characteristic of RADIUS system?

(A) It is essential for centralized encryption and authentication

(B) It works on Network layer to deny access to unauthorized people
.It provides centralized authentication mechanism via network devices
(D) It’s a strong File access system

A receives a signal and, before it becomes too weak or corrupted, regenerates the original
bit pattern. It then sends the refreshed signal.

(A) Passive hub .Repeater
(C) Bridge (D) Router
What is Wired Equivalent Privacy (WEP)?

(A) Security algorithm for Ethernet

.Security algorithm for wireless networks

(C) Security algorithm for USB communication

(D) Security algorithm for emails

WPA is stands for

(A) Wi-Fi Program Access .Wi—Fi Protected Access

(C) Wi-Fi Process Access (D) Wi-Fi Problem Access

Which one of the following event is not possible in wireless LAN?

.Collision detection (B) Acknowledgement of data frames
(C) multi-mode data transmission (D) none of the mentioned

Full form of SSID in wireless networks is
(A) Small Signal Internet Data (B) Service for Smart phone Internet Data
(C) Smart phone Signal Identifier .Service Set Identifier

An industry specification which describes how mobile phones, computers, and PDAs can easily
interconnect with each other using a short-range wireless connection.

@ Biuctooth (B) EMI
(C) D-AMPS (D) IrDA

APX-2-A ] 3 [ P.T.O.


acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight


030.

031.

032.

033.

034.

03s.

036.

037.

038.

039.

040.

Bluetooth authenticates

.Only devices not users (B) Only users not devices
(C) Both devices and users (D) Neither devices nor users
Match the IEEE standard with Name

IEEE Standard Protocol

(a) 802.3 (1) WPAN-Bluetooth

(b) 802.11 (2) WiMAX

(c) 802.15 (3) Ethernet

(d) 802.16 (4) Wireless LAN-WLAN
@-:-301-4c-1,4d-2 (B)a-3, b-2, c-4, d-1
(C)a-4,b-1,c-3,d-2 (D)a-4,b-3,c-2, d-1

Which aspect of Wireless LAN security ensures that only selected users are able to access a
specific wireless LAN?

(A) Accounting (B) Authorization
.Authentication (D) None of the above
How many channels has 2.4Ghz frequency?

(A) 10 @

02 D)5

Error Detection at the data link level is achieved by

(A) Bit Stuffing .Cyclic Redundancy Check
(C) Hamming Codes (D) Equalization

The Basic Input Output System (BIOS) resides in

(A) RAM (B) Memory Cache

(C) The CPU @rom

In Linux Operating System, which command Create a new file ‘b*?

(A) cat<b (B) cat | b

(C) create b .touch b

What is the access point (AP) in a wireless LAN?
.Device that allows wireless devices to connect to a wired network
(B) Wireless devices itself

(C) Both device that allows wireless devices to connect to a wired network and wireless devices
itself

(D) All the nodes in the network

Which one of the following extends a private network across public networks?

(A) Local area network .Virtual private network

(C) Enterprise private network (D) Storage area network
is a collection of point-to-point links that may form a circle.

(A) LAN (B) MAN

(C) WAN .Ring topology

Dirty bit is used to show the

(A) Page with corrupted data

.Page that is modified after being loaded into Cache memory

(C) Wrong page in the memory

(D) Page that is less frequently accessed
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041.

042.

043.

044.

045.

046.

047.

048.

049.

050.

051.

052.

Which Directory contains configuration files in Linux?

(A) /bin/ @ et/

(C) /dev/ (D) /root/
Which command is used to check Linux OS Version?
.uname -a (B) uname -n
(C) uname -s (D) kernel
Which Batch file is read while booting a Windows OS machine?
.Autoexec.bat (B) Auto-batch
(C) Autoexecutive.bat (D) Auto.bat
Which of the following requires a device driver?

(A) Register (B) Cache

(C) Main memory .Disk

The memory address of the next instruction to be fetched and executed by the current process is
provided by

(A) CPU Register (B) Process Counter
.Program Counter (D) Memory Register
______is a one of the synchronization tool.

. Semaphore (B) Thread

(C) Pipe (D) Socket

What does a domain controllers do?

.Store the database, maintain the policies and provide the authentication of domain logons.
(B) Control granular settings in a domain environment.

(C) Receive and relay domain commands

(D) None of the above

In an OS, Kernel provide which of the following services?

(1) Scheduling (2) Caching (3) Spooling

(A) Only 1 and 2 (B) Only 2 and 3
(C) Only 1 and 3 @:.2:ana3
RAID is a

(A) Reduced Array of Inexpensive Disks

.Redundant Array of Inexpensive/Independent Disks

(C) Redundant Array of Independent Data

(D) Reduced Array of Independent Data

Which is the correct option for Simple Mail Transfer Protocol (SMTP) Protocol?

(A) It is a pull protocol .It is a push protocol
(C) Both (A) and (B) (D) None of the above
What is the Port number of SMTP?

(A) 80 (B) 110

@:; (D) 17

The size of Virtual Memory depends on the size of the
(A) Data bus .Address bus
(C) Main Memory (D) None of the above
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053.

054.

055.

056.

057.

058.

059.

060.

061.

062.

063.

064.

Which of the following is not a suggested criteria for comparing CPU scheduling algorithms?
(A) throughput (B) waiting time

.memory allocation (D) response time

Which of the following basic Service is not supported by the Operating System?
(A) Protection (B) Accounting

. Compilation (D) I/O Operation

What is the meaning of ‘Hibernate’ in Windows XP/Windows 7?

(A) Restart the computers in safe mode.

(B) Restart the computers in normal mode.

(C) Shutdown the computer terminating all the running applications.
.Shutdown the computer without closing the running applications.

In windows Operating System , shortcut ALT + F4 is used to

.Close the active item (B) Close All open Applications

(C) Save Data of Current Application (D) Save Data of all open applications
In Windows OS, the key combination used to minimize all open windows and display the desktop
is

(A) Alt + F4 (B) Shift + M

@ windows Key + D (D) CTRL +D

Which one is True for unconditional disk formatting?

.Destroys every byte of data on a disk by overwriting it with blank spaces

(B) Do not check/scan surface after format

(C) Transfer system files after format

(D) All of the above

All device files are stored in which directory in Linux?

(A) /etc (B) /bin

./dev (D) /usr

In Linux which option of Is command used to view file inode (index) number?
(A) -1 (B) -0

(©-a ®-

‘pwd’ command in Linux displays

(A) user password (B) password file content
.present working directory (D) None of the above
Active Directory is a technology of

(A) Amazon (B) Apple

(C) Google .Microsoft

The following command is used to assign read, write and execute permission of a given file for a
user.

@ chmoa 777 (B) chmod 755
(C) chmod 557 (D) chmod 555
In Linux following is the command line interpreter.

(A) Kernel @ shen

(C) CPU (D) Command

APX-2-A] 6 [ Contd.
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065.

066.

067.

068.

069.

070.

071.

072.

073.

074.

075.

Which of the following Operating System is not type of Linux?

@sso (B) Ubuntu
(C) RedHat (D) CentOS
Which is the smallest unit of storage in an Oracle database?
(A) Segment .Data block
(C) Data file (D) Sector

Which statement is correct for a given database?

.Using differential backups can save available space

(B) Using full backups can save available space

(C) Using partial backups can save available space

(D) None of the mentioned

Choose the correct option for the basic memory structures associated with Oracle.

(A) System Global Area (SGA) (B) Program Global Area (PGA)

.Both (A) and (B) (D) None of the above

Which of the following is an Oracle utility that can back up, restore, and recover database files?
(A) SCN @rviaN

(C) SRCV (D) RMEN

Data recovery Advisor tool can be used through which of the following?
(A) The Enterprise Manager Database Control

(B) Grid Control console

(C) The RMAN command-line client

.All of the above

The DBA is responsible for

(A) Designing the logical and physical schemas

(B) Security and authorization.

(C) Data availability and recovery from failures
.All of the above

Which of the following is not a type of Oracle backup?

(A) Hot backup (B) Cold backup

.Warm backup (D) None of the above

Which of the following technique does not support closed database backup feature?
(A) Recovery manager .Data pump Export

(C) User-managed (D) All of the above

What are the implications if your test database is running in a NOARCHIVELOG mode?
(A) You can perform open database backups

.You can perform closed database backups

(C) You cannot perform schema-level logical backups

(D) You can perform the backup of only the SYSTEM tablespace when the database is open
Which of the following statements are true about the ROLES in the Oracle database?

(A) A role can be granted to itself

(B) Roles can be granted to other roles

(C) A role can contain both system and object privileges

@ 5Both (B) and (C)
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076.

077.

078.

079.

080.

081.

082.

083.

084.

08s.

086.

087.

Oracle Flashback database operation applies to

(A) Partial Database .Full Database

(C) Particular Table (D) Particular View

Which of the following statements are true with respect to oracle database backup?

(I) You should not use Oracle import and export utilities as the sole method of backing up your
data.

(II) Flashback Table is not more performance efficient than import/export utilities.

.I only (B) II only

(C) I & II both (D) None of the above
When the deadlock is detected the recovery is normally accomplished by
(A) Locking of data (B) Consistency checking
.Rollback of transaction (D) None of the above

When one or more data files has been physically damaged, which of the following recovery
should be used?

(A) Oracle Flashback .Media Recovery
(C) Point-in-time recovery (D) None of the above
Following is an alternative of log based recovery.

(A) Disk recovery .Shadow paging
(C) Dish shadowing (D) Crash recovery
Checkpoints are a part of

.Recovery measures (B) Security measures
(C) Concurrency measures (D) Authorization measures
Data centers are also known by the name

.Server Farms (B) Data Farms

(C) Server Stores (D) Data Stores

This is a repository for the storage, management, and dissemination of data in which the
mechanical, lighting, electrical and computer systems are designed for maximum energy efficiency
and minimum environmental impact.

(A) Storage lab .Data Center

(C) Data warehouse (D) Fabric

This consists of the precautions taken so that the effects of a disaster will be minimized.
(A) Data retrieval .Disaster recovery

(C) Archive (D) Replication

Access of network logs should be given only to

(A) All Users .Administrator

(C) Client and Server (D) None of the above

Which one is not a name of Firewall?

(A) Fortinet (B) Cyberoam

(C) Watchguard .VMware

The method of reducing storage needs by eliminating redundant data is called
(A) Data snapshot .Data Deduplication

(C) Data compression (D) Data encryption
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088.

089.

090.

091.

092.

093.

094.

09s.

096.

097.

098.

099.

100.

is the activity of copying files or databases so that, they will be preserved in case of
equipment failure.

(A) Snapshot (B) Replication

(C) Archival @ Backup

Check sum method is used in data communication for the

(A) Error Correction .Error Detection

(C) Both (A) and (B) (D) None of the above
Which of the following backup technique is faster?

(A) Full backup .Incremental backup
(C) Differential backup (D) All of the above

is the practice of building in back up sources and pathways to maintain operation in
the event of failure.

.Redundancy (B) Error Recovery

(C) Data Recovery (D) Error Detection

In a data center, PUE stands for

(A) Power Useful in Enterprise .Power Usage Effectiveness

(C) Power Utilization Efficiency (D) Power Under Error

DCIM stands for

(A) Data Center Internet Management .Data Center Infrastructure Management
(C) Data Center Institute Management (D) Data Center Information Management

The Core components of a data center are

(1) Network Infrastructure (2) Storage Infrastructure

(A) Only 1 (B) Only 2

.Both 1 and 2 (D) None of the above

Expected annual uptime in percentage (%) is best in case of which Tier data center?
(A) Tier-1 (B) Tier-2

(C) Tier-3 .Tier—4

The principle of modern computer was first described by ?

.Alan Turing (B) Charles Babbage

(C) John Napier (D) Wilhelm Schickard

Which one is not a part of LAN?

.Gateway (B) Repeater

(O) NIC (D) Switch

The protocol used for internetworking is known as

(A) SMTP (B) FTP

@ rcrir (D) HTTP

A large number of computers in a wide geographical area can be efficiently connected by
(A) Twisted pair lines (B) Coaxial cables

. Communications satellites (D) None of the above

Which of the following tools can be used to determine the MAC address of a machine on the
local subnet?

(A) ping @:»
(C) host (D) dig
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101. Data link layer of OSI model has two sub layers, named as

(A) LAN and MAC (B) LAN and LLC
@L.C and MAC (D) LLC and Physical
102. uses two pairs of twisted-pair cable.
@100 Base-TX (B) 100 Base-FX
(C) 100 Base-T4 (D) None of the above
103. ISDN standards are developed by
@ru-r (B) ISO
(C) OSI (D) IEEE
104. ADSL is the abbreviation of
(A) Asymmetric Dual Subscriber Line (B) Asymmetric Digital System Line
(C) Asymmetric Dual System Line .Asymmetric Digital Subscriber Line
105. Eight Devices are connected in a mesh topology. Total number of physical links will be
(A)7 B)8
@:s (D) 56
106. The connection allows only one way traffic is called
.Simplex (B) Half Duplex
(C) Full Duplex (D) Hybrid
107. A term related sending data to a satellite is?
(A) Downlink (B) Modulate
(C) Demodulate .Uplink
108. In E-R model weak entity set is represented by
(A) Dotted rectangle (B) Diamond
.Doubly outlined rectangle (D) None of the above
109. Which one from following is a loop back IP address?
(A)126.1.1.1 .127.1.1.1
(0)128.1.1.1 (D) 0.0.0.0
110. What is the netid for IP address — 197.38.11.28?
(A) 197.0.0 (B) 197.38.0
.197.38.11 (D) 197.38.11.28

111. Which of the following is not true about Supernetting?
.It is used to increase security.
(B) It is applicable for two or more networks.
(O) Bits are borrowed from network ID portion.
(D) It is used to improve flexibility of IP address allotment.
112. Using a host address 192.28.55.68 and the mask 255.255.255.192, the sub network address is

(A) 192.28.55.0 .192.28.55.64
(C) 192.28.55.68 (D) 192.28.55.192
113. Masking is not used in class ___ of IP address.
(A)D (B)E
@5Both (A) and (B) (D) None of the Above
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114.

115.

116.

117.

118.

119.

120.

121.

122.

123.

124.

An administrator is troubleshooting network connectivity and would like to view the path that
packets are taking from Workstation A to Server 1.

Which of the following command is used?

(A) nslookup (B) route
.traceroute (D) ping

Which transmission media has the highest transmission speed in a network?
(A) coaxial cable (B) twisted pair cable
.optical fiber (D) electrical cable
All transmission media are part of which OSI layer?

.Physical (B) Data link

(C) Transport (D) Network

Which Protocols are used at transport layer of TCP/IP model?

(A) TCP and FTP .TCP and UDP
(C) TCP and HTTP (D) TCP and IP

CSMA / CD stands for

. Carrier Sense Multiple Access with Collision Detection
(B) Carrier Sense Modulation Access with Collision Detection
(C) Common Sense Multiple Access with Carrier Detection
(D) Common Sense Modulation Access with Carrier Detection

Which of the following IP address class is a Multicast Address?

(A) Class A (B) Class B
(C) Class C .Class D
is least type preferred switching method.
(A) Circuit Switching (B) Packet Switching
.Message Switching (D) None of the Above
Which tracking program records every keystroke you make on the computer?
.Key logger (B) eFollow
(C) ITrack/ULead (D) Stalking software
Which is the suitable option for the characteristics of the Oracle E-Business Suite Architecture?
(A) multi-tiered (B) distributed
.Both (A) and (B) (D) None of above
The Oracle E-Business Suite Home Page provides a single point access to
(A) HTML-based applications (B) Forms-based applications
(C) Business Intelligence applications. .All of the above
The Forms client applet is packaged as a collection of that supports all Oracle E-Business
Suite Forms-based products.
(A) Android application package file (B) EXE file
.Java Archive files (D) None of the above
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125.

126.

127.

128.

129.

130.

131.

132.

Consider the following Statements:

(P) The Application tier is responsible for hosting the various servers and service groups that
process the business logic

(Q) The Application tier is responsible for managing communication between the desktop tier
and the database tier

Which of the above two is true for Oracle EBS?
(A) P only (B) Q only
.P and Q (D) None of the above

Which of the following service groups comprise the basic application tier for Oracle E-Business
Suite?

(A) Web services (B) Forms services
(C) Concurrent Processing server .All of the above

The Web services component of Oracle Application Server processes requests received over the
network from the desktop clients, and includes which of the following?

(1) Web Listener
(2) Java Servlet Engine

(3) Oracle Process Manager

(4) JDBC

(A) 1 and 3 (B) 2 and 4

@:.2:ana3 (D) 1,2, 3 and 4

UCP in Oracle EBS stands for

(A) Universal Control Protocol (B) Universal Configuration Protocol
.Universal Connection Pool (D) Unified Congestion Pool

By default, Forms services in Oracle E-Business Suite Release 12 is provided by
(A) Web listener .Forms listener servlet

(C) Both (A) and (B) (D) None of the above

In the traditional Forms server socket mode architecture, when a user initiates an action in the
Forms client applet (such as entering data into a field or clicking a button), data is passed to a
Forms server on which tier of Oracle EBS?

(A) Database tier .Application tier
(C) Desktop tier (D) Administrator tier

In Oracle database, a Concurrent Program that runs in the Concurrent Manager’s own operating
system process is known as

(A) Spawned program .Immediate program
(C) Intermediate Program (D) Parent program

The following Oracle object library contains Oracle E-Business Suite immediate concurrent
programs

@ r~pLiBR (B) PMON
O) ICM (D) None of the above
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133.

134.

135.

136.

137.

138.

139.

140.

141.

142.

Consider the following Statements:

(P) The concept of an Administration server is a historical one, and does not exist in Oracle E-
Business Suite Release 12.

(Q) If you are installing in an environment where different machines are used to support the
database and Applications tiers, you would run Rapid Install on each machine in turn,
starting with the database machine.

Which of the above Statement is False?

(A) P only (B) Q only

(O)Pand Q .None of the above

What Is the default structure Name For All Descriptive Flexfields?

.Global Data Elements (B) Local Data Elements

(C) Local Variables (D) Scope operator

A concurrent program that runs in a child process of the concurrent manager process is known
as .

(A) Child program (B) Parent program

.Spawned program (D) Immediate Program

Which of the following is not a specialist concurrent manager in oracle E-business suite?
(A) Internal Concurrent Manager .External Resolution Manager

(C) Conflict Resolution Manager (D) Standard Manager

Which of the following datatypes that cannot be defined in a PL/SQL block?

(A) Scalar (B) Composite

.Vector (D) All of the above

Which of the following lets you restrict an integer variable to the values -1, 0, and 1 that is useful
in programming tri-state logic?

(A) Integer (B) Float
.Signtype (D) Numeric
PL/SQL Varchar2 can hold as many as characters.

(A) 16767 @s2767

(C) 4767 (D) None of the above

In database Savepoints are useful for

(P) Deadlock handling

(Q) Programmers to undo transaction partially.

(A) Only P (B) Only Q

.P and Q (D) None of the above

The relation book (title, price) contains the titles and prices of different books. Assuming that no
two books have the same price, what does the following SQL query list?

Select title From book as B

Where (Select count(*) fom book as T Where T.price>B.price) <5

(A) Titles of the four most expensive books (B) Title of the fifth most inexpensive book
(C) Title of the fifth most expensive book .Titles of the five most expensive books

Which of the following does not use a selector, but individually evaluates conditions that are
placed in WHEN clauses?

(A) Control statements .Searched CASE
(C) Loops (D) CASE expression
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143.

144.

145.

146.

147.

148.

149.

150.

151.

In SQL the word ‘natural’ can be used with

.inner join (B) full outer join
(O) right outer join (D) all of the above
Which of the following statements is true about Implicit Cursors?
(A) Implicit cursors are associated with named cursor.

(B) Implicit cursors are no longer a feature in Oracle.

(C) You can use cursor attributes in SQL statements.

.None of the above

Which of the following Aggregate Function does not ignore Null in its results?

(A) COUNT @ count ()

(C) MAX (D) MIN

Which of the following is used to modify a trigger, if a trigger already exists?
(A) Modify (B) Trigger

.Replace (D) Exchange

Which of the following encapsulates related procedures, functions and variables into a single
unit?

(A) Module (B) Body

.Package (D) Name

Which of the following is a comparison operator in SQL?

A)= (B) LIKE

(C) NOT IN @)A1 of the above

If no header is specified, the block is said to be ...................... PL/SQL block.
(A) Strong (B) Weak

(C) Empty .Anonymous

The keyword to eliminate duplicate rows from the query result in SQL is
.DISTINCT (B) NO DUPLICATE

(C) UNIQUE (D) None of the above

Consider the following relation:

Works (emp _name, company name, salary). Here, emp name is primary key. Consider the
following SQL query

Select emp_name From works T

where salary > (select avg (salary) from works S
where T.company _ name = S.company _ name)
The above query is for following :

(A) Find the highest paid employee who earns more than the average salary of all employees of
his company.

(B) Find the highest paid employee who earns more than the average salary of all the employees
of all the companies.

(C) Find all employees who earn more than the average salary of all employees of all the
companies.

.Find all employees who earn more than the average salary of all employees of their company.
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152.

153.

154.

155.

156.

157.

158.

159.

160.

Consider the following relation schema pertaining to a student database:
Student ( rollno, name, address )

Enroll ( rollno, courseno, coursename )

Where the primary keys are shown underlined. The number of tuples in the Student and Enroll
tables are 120 and 8 respectively. What are the maximum and minimum number of tuples that
can be present in (Student*Enroll), where ‘*’ denotes natural join operation.

@s. s (B) 120, 8

(©) 960, 8 (D) 960, 120

Which prefixes are available to Oracle triggers?

(A) : new only (B) : old only

. Both :new and : old (D) Neither :new nor : old
The common column is eliminated in

(A) theta join (B) outer join

. natural join (D) composed join

The  pre-compiler translates embedded SQL into calls to the Oracle runtime library.
@rrorC (B) ORM

(C) ApexSQL (D) None of the mentioned

Consider the following relation

Cinema (theater, address, capacity)

Which of the following options will be needed at the end of the SQL query
SELECT Pl.address FROM Cinema P1

such that it always finds the addresses of theaters with maximum capacity?
.WHERE Pl.capacity > = All (select P2. capacity from Cinema P2)

(B) WHERE Pl1.capacity > = Any (select P2. capacity from Cinema P2)

(C) WHERE Pl.capacity > All (select max (P2. capacity) from Cinema P2)
(D) WHERE Pl1.capacity >Any (select max (P2. capacity) from Cinema P2)

In SQL, relations can contain null values, and comparisons with null values are treated as
unknown. Suppose all comparisons with a null value are treated as false. Which of the following
pairs is not equivalent?

(A) x =5, not (not (x =5) (B) x =5, x> 4 and x < 6, where x is an integer
.X <5, not(x =5) (D) None of the above

Manager’s salary details are hidden from the employee. This is an example of

(A) Conceptual level data hiding (B) Physical level data hiding

.External level data hiding (D) None of the above

Which Statement/Command would cause a transaction to end?

(A) Commit (B) Commit work

.Both (A) and (B) (D) Savepoint

The clause in SQL which specifies that the query result should be sorted in ascending or
descending order based on the values of one or more columns is

(A) View .Order by
(C) Group by (D) Having
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161.

162.

163.

164.

165.

166.

167.

168.

169.

A program that resides inside an oracle database that manipulates data in the database before
the data is used outside the database is known as

(A) Package .Stored procedure
(C) Function (D) Triggers

are PL/SQL programs that are set up to execute in response to a particular event on a
table in the database.

(A) Procedure .Triggers

(C) Functions (D) Package

The variables in the triggers are declared using

(A) - @c

©/ D) /@

If a system can enforce referential integrity, then it ensures that

(A) A record can never contain a null value for a foreign key attribute.

(B) A non-null foreign key attribute always refers to another record

(C) A foreign key attributes in a record always refers to another record which contains nulls

.A foreign key attribute in a record always refers to another record which does not contain
nulls

Choose the Incorrect Statement from the following.
(A) The primary key must be unique for a given table

.Specifying a zero (0) for the lower bound for the association multiplicity on a class diagram
indicates that the item is required

(C) Specifying a one (1) for the lower bound for the association multiplicity on a class diagram
indicates that the item is required

(D) Most databases allow multiple records that are identical (i.e., records that have the same
values for all properties).

Which of the following operation is not part of the basic set operations in relational algebra?
(A) Union .Division

(C) Cartesian Product (D) Difference

Which of the following is not a goal of Oracle Database real application security?

(A) Manage application security for application users rather than database users.

(B) Enable developers to manage security for application level tasks.

(C) Enable application user identity to be known during security enforcement

.None of the above

Which of the following Package provides a set of validation APIs to help ensure that the
complicated relationships among your Real Application Security objects are not damaged
unintentionally due to administrative configuration changes?

(A)XS_DATABASE_SECURITY @ xs_piaG
(C) XS_SECURE (D) None of the above

In multiuser database if two users wish to update the same record at the same time, they are
prevented from doing so by

(A) Jamming (B) Password
(C) Documentation .Record lock
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170.

171.

172.

173.

174.

175.

176.

177.

178.

179.

Application users are defined by an application, and have these characteristics:

(I) They do not own database schemas.

(II) They can create application sessions to the database through the middle tier.

(IIT) They can create heavyweight database sessions by connecting to the database directly.
Which statements are true? Choose the correct option.

(A) Only(I) (B) Only (III)

(C) Only (I) and (IT) .(I), (II) and (IIT)

Which of the following contains a complete record of all activity that affected the contents of a
database during a certain period of time?

.Transaction log (B) Data manipulation language
(C) Report writer (D) Query language

Which of the following is NOT an Oracle-supported trigger?

(A) BEFORE @pourinG

(C) AFTER (D) INSTEAD OF

What characteristics do application sessions have
(A) They contain information that is pertinent only to the application.
(B) They can be dedicated to each end application user.

(C) They can persist until the application user logs out of the application or the application
terminates unexpectedly.

.All of above

Which one of the following is not a way of authenticating a Database users by Oracle?

(A) database passwords (B) Secure Sockets Layer (SSL)

(C) host operating system .None of the above

In a multitier environment, Oracle database administrators can use the to create
lightweight sessions, allowing database password authentication for each user.

.Oracle Call Interface (B) Oracle Configure Interface

(C) Oracle Concurrent Isolation (D) Oracle concurrent interface

A single further allows the user to be authenticated once, and multiple

applications can then verify the user’s identity through an authentication service without
requiring re-authentication.

(A) CloselD .Sign—on system
(C) Security Assertion Markup Language (D) Virtual Private Database

Even with two-factor authentication, users may still be vulnerable to attacks.
(A) Radiant (B) Cross attack
(C) Scripting . Man-in-the-middle

Which of the following allows a system administrator to associate a function with a relation, the
function returns a predicate that must be added to any query that uses the relation?

(A) OpenlD (B) Single-site system

(C) Security Assertion Markup Language .Virtual Private Database
Which view lists all database links accessible to connected user in ORACLE?
(A) DBA DB _LINKS .ALL_DB_LINKS

(C) USER _DB_LINKS (D) DBA_LINK
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180. How many user accounts are automatically created with the database and granted the DBA

role?
(A1 @:
©)3 (D) 4

181. A security class
.is a scope for a set of application privileges.

(B) does not include application privileges that it inherits from other security classes, and it can
include application privileges that it defines.

(C) is not associated with an access control list (ACL)
(D) None of above
182. Oracle Database Real Application Security is a database authorization model that:
(I) does not supports declarative security policies
(I) enables end-to-end security for multitier applications
(IIT) provides an integrated solution to secure database and application resources
Which statements are true? Choose the correct option.
(A) (I) and (II) (B) (I) and (I1I)
.(II) and (III) (D) (I), (IT), and (I1T)

183. The is a standard for exchanging authentication and authorization information between
different security domains, to provide cross-organization single sign-on.

(A) OpenlD

(B) Sign-on system

.Security Assertion Markup Language (SAML)
(D) Virtual Private Database (VPD)

184. Drop Table cannot be used to drop a Table referenced by constraint.
(I) Primary key  (II) Sub key  (III) Super key  (IV) Foreign key
A @ (B) (I, (IT) and (III)
@uv (D) (I) and (IV)

18S. What is data integrity?
(A) It is the data contained in database that is non redundant.
.It is the data contained in database that is accurate and consistent.
(C) It is the data contained in database that is secured.
(D) It is the data contained in database that is shared.
186. A table can be logically connected to another table by defining a

(A) Super key (B) Candidate key
.Primary key (D) Unique key
187. A attribute is an attribute that can be further subdivided into subparts.
.Composite (B) Simple
(C) Multi-valued (D) Single-valued
188. A Table joined with itself is called
(A) Join @ seit Join
(C) Outer Join (D) Equi Join
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189.

190.

191.

192.

193.

194.

19s.

196.

197.

In Database systems Indices are important for

(A) Provide a quicker way to store data (B) Decrease the amount of disk space utilized
.efﬁcient processing of transactions (D) Increase the cost of implementation

In an E-R diagram, an entity set is represented by a

.rectangle. (B) ellipse.

(C) diamond box. (D) circle.

Assume transaction A holds a shared lock on Record R. If transaction B also requests for a
shared lock on R.

(A) It will result in a deadlock situation.

(B) It will immediately be rejected.

.It will immediately be granted.

(D) It will be granted as soon as it is released by A

Isolation of the transactions in database is ensured by

(A) Transaction management (B) Application programmer
.Concurrency control (D) Recovery management
The subset of a super key is a candidate key under what condition?

.No proper subset is a super key (B) All subsets are super keys
(C) Subset is a super key (D) Each subset is a super key

Which of the following is TRUE?
(A) Every relation is 3NF is also in BCNF

(B) A relation R is in 3NF if every non-prime attribute of R is fully functionally dependent on
every key of R

.Every relation in BCNF is also in 3NF

(D) No relation can be in both BCNF and 3NF

In an E-R diagram double lines indicate

.Total participation. (B) Multiple participation.
(C) Cardinality N. (D) None of the above.

What kind of mechanism is to be taken into account for converting a weak entity set into strong
entity set in entity-relationship diagram?

(A) Generalization (B) Aggregation
(C) Specialization .Adding suitable attributes

Database applications were built directly on top of file system to overcome the followingdrawbacks
of conventional file-systems :

(I) Data redundancy and inconsistency

(II) Difficulty in accessing Data

(IIT) Data isolation

(IV) Integrity problems

A @ (B) () and (IV)

(C) (I), (IT) and (I1I) .(I), (II), (IID) and (IV)
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198.

199.

200.

has same power as the both safe relational calculus.
(A) Arithmetic algebra .Relational algebra
(C) Tuple relational calculus (D) None of the above

For a weak entity set to be meaningful, it must be associated with another entity set in combination
with some of their attribute values, is called as :

(A) Neighbor Set (B) Strong Entity Set
.Owner Entity Set (D) Weak Set

Consider schema R (A, B, C, D) and functional dependencies A’! B and C’! D. Then the
decomposition of R into R1 (AB) and R2 (CD) is

(A) Dependency preserving and lossless join
(B) Lossless join but not dependency preserving
.Dependency preserving but not lossless join

(D) Not dependency preserving and not lossless join
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